5448 / External View

XIL—277 L / Without roof unit

565
530

6-M54-hrFyh

6-M5 Insert nut

BMAZ / Components [ x®&2 : TY-34)2008.02.08
No. %# / Part name ®E / Pcs ME / Material ® . xEME / Color- Finish
1 by TH /= / Top cover 1 ABSKEiRE / ABS AJ{NT b= / White gray
2 |[K7+— / Base 1 ABSEiflE / ABS ADANT V- / White gray
3 W=7 / Roof 1 | / PVC A4NT U=/ White gray
o L A7y b / Gasket 1 AY7b3y / Polyurethane 73v7 / Black
5 |7v ¥ / Latch 3 A77bA / Stainless steel #WIHE / Unfinished
6 [SMBEAMAL A (M5 x 10) 6 gk = {704~k
Screw(M5 - 10) Steel Trivalent chromate
@ T |MREfTE 6 ATIVA HYLIE
Mounting bracket Stainless steel Unfinished
8 |Eff~—-ZAAEAMS x 10) 6 K = ffi70%-h
Screw(M5 - 10) Steel Trivalent chromate
Fo -5 —% / Technical Data
REZH/ / Protection class IP65
ERREEHE / Operating temperature | -10C ~ +60C
WeEM 7 9 2/ Flammability class UL94HB
730 188 2
662
626 38
156.5 156.5 156.5
u
3
3
3
N
=
\ 6-M51U4-rfyh
6-M5 Insert nut
62 475
T 1
=N 2% /Title
— HRREALS 7 7 BT R B5K - B5E L — 7 £ ABST 53 O ]
TAKACHIELECTRONICS ENCLOSURE Co. LTD. IP65 ABS PLASTIC BOX with OUTDOOR ROOF
KR /Approved | IRE /Checked | #E/Created |F% /Product number RE/ScaleTs
BCAR507018G :
5 iR 172
{ER B /Date 2018/10/22




N%R / Internal View

HKARIZIFIL—TZRFFTTOEEA,

Drawing does not include roof unit.

ARF 1 — (94

Base (Internal View)

130

| [ |

%o o 8 o &’

o @ :
O |8 J | I
m
LN , N ¢

® ®

© o o o .,
R = o

6-M54IH-hFyh

_ 6-M5 Insert nut
N}
D
E
O
o~ - -
1°)
> —~ =
~
jﬂ' iy JTI, JI T, i/lu\
+
R
T

A~ /Max dim. 477

6-M54VH-hFyh

6-M5 Insert nut

[ x®&= : TY-34)2008.02.08

H3—(RR)

Cover (Internal View)

AW~ /Max dim. 677

B hFEHTE

TAKACHI ELECTRONICS ENCLOSURE Co., LTD.

& /Title

RHK -BHEE I — 7 fiF ABST 54" %92
IP65 ABS PLASTIC BOX with OUTDOOR ROOF

O ]

&8 /Approved

12X /Checked

o

8IM /Created

PR

&% /Product number
BCARS507018G

RE /Scale
1:8

AR B /Date 2018/10/22

2/ 2




	BCAR507018 Model (1)
	BCAR507018 Model (2)

